IRAYRETRT TdaThlsll FfAdeaRIarT 383 w3..

Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2017
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qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. X YRAYTARHET THUT 100 TR I Ycdeh FRATHIST 2 I[0T 37Te.
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% HISTAUI @IS Mg, AT SRideeel [ABleledn JOMd FHSATE! TPR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




8T TS ThIcAdT fad FEU HIGRT dhell SITcl?
A) 26 3iTeFelaT B) 28 3iferclaT C) 29 3iTFeIsT D) 31 3ifFels}

When National Integration Day
A) 26 October B) 28 October C) 29 October D) 31 October

ereT ARaRTAT deiel Ufgell Sl fotelm IdeT TeT TefeTeal 9™ el fAdsvard 3imel
3Te.

A) 3.3, e B) URRE fAEN ) $AR HTeHA el NEIECRAM]

The first person out of Tata family who has been selected to head the Tata Group after Ratan Tata?
A) O.E. Bhatt B) Cyrus Mistry C) Kumar Mangalam Birla D) Noel Tata

STeT oltendrel forer hemely defead 3me?

A) TSR B) TN C) hHAUTH D) fAasush

Jan Lokpal bill is related to -

A) Corruption B) Theft C) Impersonation D) Election

HaTd SIEd QAT TATT FHIOTRT 22T HIUTAT?

A) 3TARET B) AT C) STH=AT D) ARd
Which country is the largest importer of Gold?
A) USA B) France C) Germany D) India

GreleTdehT T JRATAT IFAFHA Tr FET dega?

A) FeAHG TG B) YOTd Gl

C) FXC HAg Sref D) StEad &

Who among the following never held the charge of finance minister of India?
A) Manmohan Singh B) Pranav Mukharjee

C) Murli Manohar Joshi D) Jaswant Singh

GrelTeldehl IUTAT HRAT AR Al Iod ARl

A) TR B) 1S C) ST D) $fdeTeay

Which of the following Indian cities does not have metro train -

A) Kolkata B) Mumbai C) Banglore D) Bhubaneshwar
3ARFY AGfAaId ISCETET HI0T?

A) fgorll foFeiecaT  B) SiloT g C) 3o TFq D)Wgﬂaaﬂm
Who is the newly elected president of USA?

A) Hilari Clinton B) George Bush C) Donald Trump D) Barak Hussein Obama




10.

11.

12.

13.

30 3TITEE 2016 USH ATHBATZY ASAUTS Hleitoldl AT ATl HRhIs FICATHD
TTABATZAT AsAdTel Ferdl IfARFT TSR HIVTCAT JoIAT AsIUTellhs [AfquaTd
3iTetl.

A) HERTSE B) ISRI C) B D) ITSTEYUT

Which state Governor has taken the additional charge of Tamilnadu due to current Govorner

Konijeti Rosaiah's tenure ended on august 30, 20167
A) Maharashtra B) Gujrat C) Keral D) Rajasthan

AT T HEATIS HI0T?

A) o Aew B) ol{T Tfor el

C) T de| 3nfor oY HoleT D) Foit foieT 30T oY oot
Who is the founder of Google?

A) Bill Gates B) Larry Ellison

C) Jimmy wales and Larry Sanger D) Sergey Brin and Larry Page
AR gfgel TsgUCr HIoT Fa?

A) STeT arfRees B) STieT 37SH

C) 3158 H Toldhal D) SlieT. UWh.shaial

Who was the first president of United States?

A) George Washington B) John Adams

C) Abraham Lincoln D) John F. Kennedy's

IR RSId I63 24T g} HIUT Rd?

A) TN ST B) TERTH ITsTe
C) AR AT D) 3f5id T
Who is the 24" Governor of Reserve Bank of India?

A) C.D. Deshmukh B) Raghuram Rajan
C) Manmohan Singh D) Urjit Patel

STfeldl SRR AT 7% HIT gd?

A) TH.SY. THAGH B) U, &Y. THARTE
C) 2AfFeT AT D) TS
Who was the mentor of J. Jayalalitha?

A) M.G. Ramachandran B) N.T. Ramarao
C) Shashikala Natrajan D) Chiranijivi

ACs TSeed gTelehd AT IUT Ted?

A) Y SHTS B) UHEIT e C) 3TS[eRd WY D) TgiehTel TTErel
Who is the Guardian Minister of Nanded district?
A) Subhash Desai B) Ramdas Kadam C) Arjunrao Khotkar D) Chandrakant Patil




14.

15.

16.

17.

18.

19.

20.

fhser et § g7 AT TseudT g,

A) T B) STehT C) AT D) &FgeT
Fidel Castro was the president of country.
A) China B) Jamaica C) America D) Cuba

= F7ST 3 9da TST9Ter MYeAT YT NANETIC]

A) ST B) UTTEITeT C) TEG D) Hafed =TTl
The Governor shall hold office during the pleasure of the

A) President B) Prime Minister C) Parliment D) Supreme Court
Ry +4=200R y = ?

If y2+4= 20, then y equals .

A) 4 B) -4 C)4or-4 D) 16

THT Ml HeAT-Felld UM 7:5 3 3778, S Adcllel Helrd! HEAT 525 3 el R

ol Fedr fhcdr?
The ratio of boys : girls in a school is 5 : 7 if there are 525 girls, how many boys are there
A) 375 B) 625 C) 735 D) 325

TGrefleT 3MThellcd AB||CD 37TfOT [ F= 3OOHTLFCD =7
/[ F=30°, LFCD=?

In the given figure, AB || CD and , th

F

E B
A !
c D
A) 90° B) 60° C) 45° D) 120°
43 : 20 €T ORI TFhary forcir?
Express the ratio 43 : 20 as a percentage
A)215% B) 63 % C)13% D) 86 %

aled TATT AT EENSAT Tohrd Gl FATR ISR 1qshA 46 fohall/ard @ 36 foredy
[aTE AT UTad 3Ted. STl 3ERNET g6 TTUNAT 3ERMEen 36 Hehald 3Meisd, o
TS offet fohcir?

A) 50 HY B) 80 HT C) 72 #Y D) 82 &I

Two trains of equal lengths are running on parallel tracks in the same direction at 46km/h and
36km/h, respectively. The faster train passes the slower train in 36 sec. The Length of each train is :
A)50 M B) 80 M C)72 M D)82 M




21.

22.

23.

24,

25.

26.

27.

28.

P+2%+33+ 22+53 463 +77+83+9°=7
A) 285 B) 2085 C) 2025 D) 1085

(cosec?45+sin 30) (sec?45+tan 45) .
(sin260 X cos?2 45) -
A) 20 B) 5 C) 60 D) 15

T fAfRIST 1A AGT 4 AT &l O 1A A 3701 Care fAggeT 2 AT qoT &dcid. d
B 37TOT Care fAgeT dw A 3 AT qUT &dld o Hedlel 1A qUT HLUATHTS B T
forc A @meter?

A) 10 ATH B) 12 A C) 16 A D) 18 AT H

A can do a piece of work in 4 hours, A and C together can do it 2 hours, while B and C together need
3 hours to finish the same work. In how many hours B can complete the work?
A) 10 hours B) 12 hours C) 16 hours D) 18 hours

|r=ar / Simplify:
5\ 2 5\ 2
(35+22)" - (35— 23)

242 247
A) == B) — C) 238 D) 240
7 7

S 16 SIFRIAT 100 ATAT fAomTerm 21 fga@ @meTdrd. oX 200 @rsar 12 feagara faomger
fordT AR emeTder?

If 16 workers needed 21 days to weave 100 sarees, then how many workers will be needed to
weave 200 sarees in 12 days
A) 56 B) 28 C) 42 D) 60

TaT geTedier 40 fagamai=ar aardt arady 1098 3. S} e g9 fagani=ar aard
g T WE 11 39, R ReTdprr a7 fmdr?
A) 513 B) 50 a¥ C) 48 a¥ D) 45 ¥

In a class, the average age of 40 students is 10. If teachers are added to students age then the
average becomes 11. what is the age of the teacher?
A) 51 years B) 50 years C) 48 years D) 45 years

GreloTthl HUTT TARITT T&AT 3T HHATT ed?
In which of the following alternatives the numbers are in the descending order?

A V6,532 8Y5,V6,3¥2 oVe6,¥V2, %5 0V5,V2 V6

Tehl TREATT &Tthcs 49 x* +28x +4 3Tg. o T TNATT &5 fahell?

If the area of a square is 49 x* + 28x + 4, then its side is ?
A) 7x -2 B) 7x + 3 C) 7x- 3 D) 7x +2




29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

675 x 483 =326025 X 6.75x4.83 =7

675 x 483 = 326025 then 6.75x 4.83 =?
A) 3.26025 B) 326.025 C) 3260.25 D) 32.6025

1000 fehellald TAAOUTAEY alg  T&HAC AT TATOT 4:1 3T, TAHOTHEY fovell T@HC Aacser

X fRSURE 90T 5:2 gisdl?
A) 600 freliare B) 120 fhellare C) 150 fpaiaie D) 125 feheliare

Sand and cement are mixed in the ratio 4 : 1 to make up 1000 kg. how much cement should be

added to make the ratio5:2 ?
A) 600 kg B) 120 kg C) 150 kg D) 125 kg

Find the antonym of the word written in Capital letters
TERSE
A) Despriptive B) Expressive C) detailed D) concise

Fill in the blank with most suitable determiner:
The minister has virtually presided over meeting for the last ten years.
A) every B) each C) all D) both Aand B

Fill in the blank with suitable verb :
The woolen coat has
A) shrunken B) Shrunk C) Shrank D) Shrunked

Identify the analogical ability:

CUB : BEAR ::
A) PIANO : ORCHESTRA B) PUPPY : DOG
C) CAT:KITTEN D) FORK : UTENSIL

Pick out the word that is different :
Graceful, beautiful, elegant, blowing, awkward
A) Graceful B) Awakward C) Seemly D) Elegant

In the following question, out of the given alternatives, choose the one which best expresses the
meaning of the underlined part of the sentence.

We can deduce a lot from what people choose to buy.

A) infer B) conclude C) imagine D) presume

The underlined word in the sentence given below represents which type of degree.
That was the funniest film | have ever seen.
A) Comparative B) Superlative C) Positive D) Negative

Find out the one word substitution:
Lover of Mankind
A) Philanthropist B) Charitable C) Liberal D) Benevolent




39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

Grellel ASCHHGT Tegel Ueh Asq YA folasl.
qEaTd §:W UIgel HbdBUINT -
A) TITR B) FdTdelsll C) SheTal D) HeETa

TaET AT regran faveufolall Qrsg SIvTAr?

A) |EET B) fager ¢) farerar D) faegdror
Grellol JTFATdTeT '37hHe ol JAE ded 3dTl.

A) Hell Pl AT B) Hol HAcTeATaR Wasdllel

C) 3Tofe s HFifdrelr D) Hellell IgdTs feifgem

in:IT T 37ATAT @relerdeh gATTT 2rse HIUTAT?
A) IEHT B) 371’9 C) It NEEIGH

GTolloTehl ATaTdeh ATH 3NBET.
A) QABTOTIUIT B) g’?ﬂ? Q) aaoz D)W

TrelleldehT 3TR[eer 2sc NN,

A) AR B) dreharufy C) THeTAS D) HYFcieh
s arar ene.
A) ST Tehlehd o @l A4, B) TehThUTIR &led AT

C) & Tehlahel TOT O A T8 D) S TahTehd 372UAT o Tl J9d

TTolleldeh! HIUTAT YT ga<dT T&HofT Iedal digradr Aa?

A) AGTESET B) AT C) 9TgaTofY D) 37&Tell
Which of the following hill stations can you reach by railway?
A) Mahabaleshwar B) Matheran C) Pachgani D) Amboli

FIIATT &Y gFedl 3cUlesd Jald SEd 3ol Tolegl SIuTdar?

A) JTIHTD B) STBTd C) qor DNEGRERI
Which is the district known for the highest per hectare production of cotton?
A) Yawatmal B) Jalgaon C) Pune D) Amravati

HERTSEICATSl EITST RIGATT YTHEATA FHRATHATS AT Shell SATT?
A) 3SR faega 3eit B) 3TTUgeh 3ol
C) STeifdege 3o D) AT ATEY

——
(o)}
| —



49.

50.

51.

52.

53.

54.

55.

What is coal in Maharashtra prominently used for?
A) Thermal Power B) Atomic Power C) Hydro Power D) none of these

RIUTCH GT 3RS FHTe Rd?

A) g B) hTA<T C) HgAGT D) o
Which river joins the Arabian sea?
A) Tapi B) Kaveri C) Mahanadi D) Krishna

SIATQR 3107 35T Yehod I0TAT Tolegard 3me?

A) IcATIIRY B) ShlegT Y C) fererget D) TR
Jaitapur Atomic Power Project has its location in district.
A) Ratnagiri B) Kolhapur C) Sindudurg D) Solapur

'S (SEZ) T TaTaTRA 3T FIT HR?

A) THIA SHIATAS ST B) TSI SHIITAS ST
C) TIAT SHhIAIHS Sl D) Ofced ShIAAS el
What is the full form of "SEZ" ?

A) Small Economic Zone B) Social Economic Zone
C) Special Economic Zone D) Service Economic Zone

HeRTSE 3l fawra AGHSE MIDC A TATIAT Shegl STell?
A)1H 1962 B) 13FTEE 1962 C) 15 3{T9¥e 1947 D)1 f3d«T 1984

The Maharashtra Industrial Development Corporation (MIDC) was set up on
A) 1st May 1962 B) 1st August 1962 C) 15th August 1947 D) 1st December1984

ol rell 3iRATeTE AT 3TaRSerT [AARIdSET ol [Here.
1) 2008 2) 2006 3) 2007 4) 2005

When Aurangabad airport became International Airport?

1) 2008 A.D 2) 2006 A.D 3) 2007 A.D 4) 2005 A.D

Grelloldehl A9reT [ FHIoTa?

1. qH 2. 39 3. derg 4. g

A) Hed 2 B) 1 3TfOT2 C) 2 H1fOT 3 D) 1,2, 31fOT 3

Which of the crops is a cash crop?

1. Cotton 2. Sugarcane 3. Tobacco 4. Wheat

A) Only 2 B) 1and2 C)2and3 D) 1,2,and 3

|IYsT gdd A g seard WY JeTed STel
3Te.

A) J¥er g ardr B) Meradr g AT

C) #f&AT g FHeom D) aTdY & quit




56.

57.

58.

59.

60.

61.

62.

and river basins are separated due to satpura mountain

ranges.
A) Narmada and Tapi B) Godavari and Bhima
C) Bhima and Krishna D) Tapi and Purna

HRATAIST HIUTAT ehisAT TIdT Tl fededrd 38 ?

A) D B) celeToT C) STFH FIFR D) el
Which state has a separate constitution in India?

A) Kerala B) Telangana C) Jammu and Kashmir D) Delhi
IRAT TfAUe 9RAT guid hel 3.

A) HERTIST B) faemetasa

C) =g Y D) fatme gRwe

The constitution of India describes India as -

A) The Union B) Legislature

C) The Union of states D) Legislative Council

HRA = aRquT 3.

A)=affe Al B)fegw c) fafaerar D) HHEE
India is full of

A) Natural Beauty B) Island C) Diversity D) Prosperity

A) 3cUTCTAT HTee B) HTATIGIS Sildel

C) SfrasAdtelr D) Y FETEA
Change in means Industrial revolution.

A) Production resources B) Social Life

C) Lifestyle D) Agricultural resources

'Hiess g 9icy 7Y Fihr fafger?
A) HAlCERg B) Sl C) T D) fAdaT

wrote the famous book ' Candid'?

A) Montesquieu B) Voltaire C) Rousseau D) Mirabo

A) ITSTeEr B) TTShQITEr C) GiTheMEr D) HTFIATEr
Greek Civilization gifted the world with system.

A) Monarchy B) Imperial Army C) Democracy D) Marxist
PlegHeY g1 fead Ui feet FulT dresell ST,
A) 14 STl B) 4 3TIe C) 14 3TIEC D) 45t




63.

64.

65.

66.

67.

68.

69.

70.

Which of days is celebrated as National Day in France.
A) 14" July B) 4™ August C) 14™ August D) 4™ July

=T HIBTd Wledad ST JITdT holl.

A) 13°T T3 B) 15 @ of$ C) 16aT oS D) 14 @ ¥$
In whose reign was the France to the highest of her glory?
A) Louis Xl B) Louis XV C) Louis XVI D) Louis XIV

3ARE FATT JEUTET YeATICdT FHIOT BreAT?

A) SiloT g1 B) Siiel dfdded  C) &g 3iifeH D) UTHT STHIHT
Who was the leader of American Freedom war?
A) George Bush B) George Washington C) James Otis D) Thomas Jefferson

CIETE B ﬁqsug\qo SIGUTAT 3HCAR™ fohdATd I fhdl 319 AR ?

A) 18 I B) 25 a% C)21 a¥ D) 30 a¥

What is the minimum age of candidate who is contesting Lok Sabha election?

A) 18 years B) 25 years C) 21 years D) 30 years

SIEC deTd IgTedT UedT U3 $¥¢ 3f3ar Shusi STelst ATell glar?
A) dieT B) 9T C) &l D) IR

How many ships full of boxes of tea were due to arrive on the Boston Port by East India Company?

A) Three B) Five C) Two D) Four

FIeel - 319 - 3FAgs I A FHION ATGer?

A) WrdeH B) &1 c) Frese D) glegHlec
Who discovered Carbon - Dioxide?
A) Paraselson B) Harvery C) Gilbert D) Holdmant

e ALY digguRT gfgen qiiRaaATc el HioTar?

A) Adlelet B) % C) ATeR(dTelr D) & HIfAH 3
Who was the first western explorer to reach china?
A) Magellan B) Cook C) Marco Polo D) Sir Francis Drake

7S fRcoRAT SoH HIUTAT AT SITalT.

A) STeF B) ST C) 3ffeear D) &I
Adolf Hitler was born in which country?
A) France B) Germany C) Austria D) Hungary

Teh HEATT Ueh HCIHTY FAUA 7 ST hel AT 3o 7 3d, o H&AT 38

If 7 is subtracted from one-seventh of a number, the answer is 7, then the number will be -

A) 77 B) 49 C) 21 D) 98




71.

72.

73.

74.

75.

Uahl Tlehfder ATSA 'PSODI'§T 2Tsg 'NQMBG' 31T Toifgdid dX, 'GGHPP' T UsE, &»aT ToIgrdr.
If code for 'PSODI' is 'NQMBG' then what will be the code for 'GGHPP'?
A) NFEFN B) FEENN C) NEFFN D) EEFNN

HIITedT 3Tehclid el acas 3mea?

How many semi circles in the following figure.

A
NN
VEANZAY,

N

A) 24 B) 6 C) 12 D) 20

> i

a
ANZN

Grellel 9T JTehcrd ATodTcliel Fidfde 3o HTeheaiAey Qe

Choose out of four options which shown the correct water image of the question figure.
W 3Tehcil / Question Figure

V4N

3 3-TIT=!3_cﬁ / Answer Figure
\VAY/ X/ AV X/
VAR A
A) B) C) D)

@rellel HEATATT SRaATIegrear St Ao Heear gAiardsT Q.

Choose the correct alternative that will replace the question mark in the given number series.
6,12,21, ?,48

A) 33 B) 38 C) 40 D) 45

WTelleT QUSGIaY QTSEhIRMTA HISUN hell dX HIOTAT UAsg AT ASA?

If we arrange the following words in a dictionary, which of them would come in the last?
A) Heaven B) Harvest C) Heavy D) Hectare

T .

o

Qrellel UReT héTeh 76 78 HEY UfgedT Jerdl ga=ar qerRl Sir Heer 317 dard deer
faa=ar e @tear gerel 3me, Iraws e Regrear sl o ue fFasT

Instruction :

In the question below 76 to 78 the relationship between the first term and the second is same as it
is between the third and the fourth term. Taking this into consideration which alternative will came
in the place of the question mark?

10

——
| —



76.

77.

78.

79.

80.

81.

A) B) Q)

CBSE : BARD :: NCERT : ?

A) MBFQS B) MBDQS C) MDFQS
8:64::25:7
A) 125 B) 137 C) 521

Grellel 3 RRATAT giafae e,

Find the mirror image of the following combination of digits.
W 3Teheil / Question figure

541349E

3 AThcar / Answer Figures

Qp3rpe QpEIpE ey3Ive
A) B) Q)

D) OVAQ

D) 625

QpEIRE
D)

@rellel 3Teheid Feafegrear Sl AR FE&Ar gAiargs e,

Choose the correct alternative that will replace the question mark in the given diagram below.

3 2 5 3
9 3 4 3

A) 50 B) 186 C) 288

D) 286

°URE, TRl @ FhIoT a1 FEEIS! 3Tt T A WiidA R 3 fHas .

Which of the following venn diagrams best represents the relationship amongst square and triangle

©o,ap.@

11

KCY

——
| —



82.

83.

84.

Greftel e Ueh fARISE sl 3§ ATl Teh Ue i 318, G b dg 3esd.

In the following question, there is series one term of the series is wrong. Find out the wrong term
from four alternatives given below.

4,10,22,31,40,49

A) 22 B) 49 C) 10 D) 40

9T el dcllcicd SHUMRY 3Mehcl 3R 9L fasr.
Select a figure from the given alternatives which fits exactly in to question figure.
90T 3-1'I'5<|3_(-ﬁ / Question figure

e,

3 W/ Answer Figures

20

D)

e 3MTehcll ABIAUATHIS! TITATCHST HIOTT 3MTehcll TErd delel ?

In order to find the question figure which alternative figure should be rotated.
RG] 3-1Tiw?-ﬁ / Question figure

A) B) Q) D)

12

——
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R 3TTehcllciel BCehHHATT Heeh JHUIRT JATT e,

Select an alternative which has the same components as question figure.
9%T 3-1T<'=F<—ﬁ / Question figure

76
v *

3 3-TI7=<Ij_<-ﬁ / Answer Figure

A | 9 Raoele
O | |A’Aw| [T Ow| |48 ©

A) B) C) D)

Qrsar
Solve :
2.5

— =7

0.5

A)5 B) 10 C) 0.25 D) 0.05

SR ‘x’FGUTSl + ; ‘y’ FQUTSl - ; ‘z’ FGUTSl + 3TMOT ‘w’ FFUTA x X 10w2x5y5 = ?

7

If “x’ stands for +; ‘y’ stand for -; “z’ stands for + and ‘ w’ stands for x then 10w2xy5y5 = ?
A) 15 B) 12 C) 10 D) 20

YR 3MTehdllc G TIeedT $has TR HHET SIS TAN STelell MTehdl TN fiasT.

Select the figure from the options that can be formed by joining the only four parts given in the
guestion figure.

RG] 3-TIT=!_T<-?[ / Question figure
IgqIs

3aX 3TehcA1/ Answer Figures

A) B) C) D)

13

——
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89.

90.

91.

92.

93.

94.

95.

BFHATT T ST HUTT ?

A) T&Fd ST B) ST QEHThOT

C) 9T fohdT HASd D) Td STelel 3ol TTGAUT
What is the main function of the lungs ?

A) Supply blood B) Purify blood

C) Help in digestion D) Stored digested food

Glelloldehr AT 3T4drgsh HIuTar?

A) oI B) dis C) IH@ATH
Which is a semi conductor of electric?
A) lron B) Copper C) Germanium

GrelloTdehT AIUTCAT ATEIHTT Ea=ram 397 e 39ar.

A g B) TUTY ORGEIG
In which of the media is the speed of sound is greater?
A) Gas B) Solid C) Vacuum

SHAUTAETel Fofelarell Hald Ferdr Jegra

A) BT B) YeToticiel ¢) fegfawss
The most effective method of reproduction in bacteria is

A) Budding B) Regeneration  C) Binary Fission
UICRIGH Hothed g 31T

What is the chemical formula of Potassium Sulphate.

A) PSO4 B) K;SO4 C) P,SO4
TRIBISST o aY¥ TIET .

A) drel B) U C) Gl

Typhoid Vaccination gives protection for years
A) Three B) Five C) Two

Hegellolel Selelel 3.

A) Seegged B) heeh

C) U=t TATIeRT D) UfRIuce
is made up of Cellulose.

A) Plasma Membrane B) Nucleus

C) Cell Wall D) Cytoplasm

14

D) IT I Y

D) none of these

D) &
D) Liquid

3R,
D)WW

D) Gametic Union

D) KSO4

D) IX

D) Four

——
| —



96.

97.

98.

99.

100.

MKS &Y 3ol Teheh 3718,

A) 37T x #Hex

In MKS, unit of energy is

A) Erg X Meter

B) #ggaT x HIeX ) SJof x HIX

B) Newton X Meter C) Joule X Meter

D) Hel®

D) Meter?

NEM

D) Peanuts

D) S/T T-141

D) Jaya T-141

D) H<T 1831

D) 1831 A.D.

D) TR

D) Four

RIS gereadT 38,
A) Hepl B) 91§ C) Sandr
is a Leguminous Plant.
A) Corn B) Wheat C) Jowar
gl dicor! IRd Jd 3R.
A) BERT - 64 SEIGUGED C) 3151t
is hybrid Variety of a rice.
A) Sonara- 64 B) Sonalika C) Arjun
OefiaT 2MET hegl oleTeT?
A) "HeT 1590 B) He1 1674 C) HeT 1665
When was the cell discovered?
A) 1590 A.D. B) 1674 A.D. C) 1665 A.D.
gl Ha=grd gafiepeor fohdl o gla?
A) et B) UTa C) e
In how many types classified solid waste?
A) Three B) Five C) Two
( ]
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